

	 ا�����ى ��
� ����  

	��� ��رج  :1ا������� ��
∆�O; I�  ���OI = 1cm  ،A(7)  3و)-B(  وC(5)  2,3و)-E(.  

�  (∆)أ��� ا��
	��� ا���رج  .1��� ا���
 � � �!O  وI  وA  وB  وC  وE. 

 .CEو  AEو  BCو  ACو  ABأ�
& ا��
$%$ت  .2

]��	-/ ا��*.(  Kأ%-,ل ا���*(   ��xKد  .3AB[. 

��*(  ��A$!�( ا���*(  Dأ%-,ل ا���*(   ��xDد  .4�� )1
��$2C. 


��$ أ�$6 15.� 
4 ا���*(  Fأ%-,ل ا���*(   ��xFد  .5A  28ـcm  و أنxF &�$9 د�
. 

   :2ا������

  

$2
	1$ر ا��;� %: ��
  :ا>

1.  ��� .17و  (32-)و  (5-)و  10ا�	: أ%$<��$6 
�� ا�	,ا�:  Eو  Dو  Cو  ��Bد ا�

2.  )*��  .��Aد أ%-,ل ا�

   :3ا������

  

  

  
  
  
 

 

  
 

   :4ا������

                                        
                                        
                                        
                                        
                                        
                                        
                                        
                                        
                                        
                                        
                                        

  

                                
                                
                                
                                
                                
                                
                                
                                
                                
                                
                                
                                


�� و �����  �� ��� ���� ��
 إ�
، ���"� ا�����ى ����"�
� $%&�ا
(O,I,J).  

1.  '(�� .Mو  Lو  Qو  Kو  Hو  Jو  Iو  O,�د إ,�ا+*
ت ا

2.  ./(��1
  Nأ�&0 ا�1
  5ا��� أ��2� .4–و أر�3

3.  ./(�� .P(0,-2)أ�&0 ا

4.  ./(��

�  G,�د إ,�ا+*
ت ا����7*6 5%�ن اHKMG  ازي���

  .ا=>;ع

 

IO 

J 

x  

x  

x  

x  

H  

K 

L M 

Q 

x 

IO 

J 

x  

x  

x  

x  

x  x  

x  G 

H  

L M 

Q 

N P 

,2$ إ�� �.�� �	.$�� �%: ا��;� .� ،$1�$C	B1 ا��
	,ى �

 �D�  .(O,I,J)و ��

1.  ���و  Qو  Pو  Lو  Hو  ��Gد إ��ا!�$ت ا�
M  وN. 

2.  )%$
 .��GMد ا��

3.  )*�� ��G$!�( ا���*(  ��Rد إ��ا!�$ت ا�
 )*���� )1
� .2M$ا�
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